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SN EH.S(3) - MEAY - BAS O At ot i HRE2
CHRIHA 244 427 224,436 19,991
CHAIH At EH] 149,977 108,013 41,964
HEXNES 67,940 67,940 0
olgtd &=sX& 60,340 60,340 0
301 et A3 60,340 60,340 0
05 S-2l-eyes2Ea3 60,340 60,340 0
OO0l 59,040
—J|gs4 200,000& = 18Y * 128 43,200
—&0= 200,000& = 18Y = 23| 7,200
o EL-2P=
20,000& » 18" x 23| = 12& 8,640
Oeta g 50,000& * 269 1,300
FOUEAHX A 7,600 7,600 0
301 Let8 A3 7,600 7,600 0
10 SAIAHIEAZ 7,600 7,600 0
OAZDEFAT AHBY
10,000& * 360 3,600
OR0loY EAML B
10,000& * 2009 2,000
OMoioe & sSRAEAR 24
10,000& * 2009 2,000
HAF E B2AI4 2tel 82,037 40,073 41,964
HAr22] 34,950 8,973 25,977
101 Q1 Hl 10,788 8,973 1,815
10 JIZHZ22ANHsSE+ 10,788 8,973 1,815
O A28 9,610
—Ool4d| 29,4303 * 14 » 260 7,652
-S54 29,4303 * 19 » 37 1,089
—AUEE= 8,741,000& = 0.0994 869
Oua s Ze 29,4303 * 19 = 40 1,178
201 B2 AH| 11,162 0 11,162
01 AtR22ldl 2,112 0 2,112
Odet=gH| 2,112
—HAMNIFOZH ES| 176,000 » 128 2,112
02 =329l 9,050 0 9,050
OdEH| 4,850
— & A 8693 * 102IE * 5IHA * 90 3,911
— S A 8693 x 122IE = 90 939
OAI & &H|I s Xl 1,200,000 1,200
OXte & ety| 250,000& = 128 3,000
401 Al&EHIZLEL04H] 13,000 0 13,000
04 Al&H| 13,000 0 13,000
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OHF DAL =S A
8,000,000 * 1A 8,000
OFAAR SH&ALET
5,000,000& * 14 5,000
SSAlE 22 47,087 31,100 15,987
201 L8249 H| 16,487 0 16,487
02 =329l 16,487 0 16,487
O3s2=2 % HA 16,487
—hSES Y II2E MRS
1,198,900& = 12& 14,387
—AMNLDI ZEHAIES 125,000 » 128 1,500
—HBE3IHH 50,000& = 12& 600
206 M= H| 600 0 600
01 TZ=Hl 600 0 600
OAMNDIF =XEIAA HH|
50,000& = 12& 600
401 AIEHIZL20HB] 30,000 30,000 0
04 Al&H| 30,000 30,000 0
OSSANEEES 30,000,000 30,000
HYESHAHHI(UXIH) 94,450 116,423 AN21,973
ol 2HH|(CHXIH) 14,360 14,360 0
Ol =22 HH|(CHAISH) 14,360 14,360 0
203 LR F=&H| 9,560 9,560 0
01 JI2ASIHERFX| 6,000 6,000 0
OJ|A2HLRFXH| 500,000& = 12& 6,000
02 HIAIAHHERFZAY| 560 560 0
O3 IMEEAH] 40,000& = 14H 560
04 ENSIYERFZEHI 3,000 3,000 0
OFRANSHERE=NH| 250,000& * 12& 3,000
204 X PHAY| 4,800 4,800
01 HMZSHRHEIH| 2,400 2,400
OHE 150,000& ~ 12& 1,800
OFHE 50,000& = 12& 600
03 SHER>AHESH| 2,400 2,400 0
ONREYsR2E 100,000& = 29 = 128 2,400
Jlgdel(oeagl) 80,090 102,063 A21,973
Jl2ZHI(CHAIH) 80,090 102,063 A21,973
201 LBt HH| 38,990 67,263 N28,273
01 AtR2t2lbl 32,410 32,093 317
Ogt=2H| 14,000, 000& 14,000
osdgs¢ 12,050,000& 12,050
(@I E==1s] 180,000& 180
Oz &l 6, 180,000& 6,180




Sk
X XH .
S Tt

ool

CHX &
SHYP2HAH(HAIH)
Jl=2Ad8l0l=Ad])
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02 =339l 6,580 35,170 A 28,590
OZ222=2 2 HMA 6,580,000& 6,580

202 044l 35,000 34,800 200

01 =Wdodl 1,400 1,200 200
(OPIE=y =P 1,400,000& 1,400

02 XY 33,600 33,600 0
O M bl 200,000& = 149 = 128 33,600

405 XHAHR S| 6,100 0 6,100

01 XA =SEFSHI 6,100 0 6,100
OFAMAHAHATL 4,500,000 * 1CH 4,500
ogyyl&E2 500,000& = 10H 500
o3I ¢ 80,000& = 5CH 400
Oz 350,000& = 2CH 700




